Heteroatom parameters in Hiickel Theory

While Hiickel theory is basically obsolete as tool for use in any kind of quantitative
analysis of experimental data, it is still useful to have a qualitative tool that is simple to
apply and simple to interpret — it also doubles as a good “teaching tool” for symmetry and
group theory because it allows one to focus on symmetry aspects of molecular orbital
theory without getting bogged down any more than necessary on the quantitative physics.
Since the range of m-system examples one can examine in the pure hydrocarbons is fairly
limited, is useful to be able to extend the qualitative applicability of Hiickel theory by
including parameters for heteroatoms. The table below shows one set of o and f
parameters for various heteroatomic systems. More than one o parameter can apply to a
heteroatom, depending on the number of electrons the formally neutral heteroatom
donates to the  system. For example, in pyridine the nitrogen has four o electrons; two
electrons come from the two shared C-N & bonds and two electrons reside in the sp
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